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https://docs.google.com/document/d/1c-HLKD55_aXsNACApYaCOBm-C-ClJGZhyvJ5x3qzcb8/edit




Sz
Solves (3)
Queue reading so weird

O last, not L<J<I
J last, not I<O<L

O last, L<J<I
| last
L last, J < O/l

L last, Ol<J
J last, I<O<L

-

Solves (3)

SZ<L

LS<Z

LZ<S

alin

Another setup for better cover



https://fumen.zui.jp/?v115@9gi0Q4BtzhA8Q4g0R4BtRpB8R4ilA8RpC8Q4glQ4E8?JeAgWWAV4f2AwngHBFbcRAS0W9APblRAylAAA9ghlh0R4zh?A8glg0T4RpB8glBtR4A8RpC8g0BtE8JeAAPVAz8nABzngHB?FbcRASkezASu78AZAAAA9ghlg0AtR4zhA8gli0R4RpB8glB?tR4A8RpC8AtR4E8JeAAPVARBwKB3ngHBFbcRASkVzASu78A?ZAAAA

Solves (2)
2nd solve needs 180 for O,L queues.

0Z OQB

—

Reveal | (I1Z qb) Reveal J Reveal L (LZ qb) Reveal S (OS gb)

]

LS OQB

Access S




Reveal |

Reveal J

Reveal O

Reveal Z

Z last

O last

Jlast,Z<O

Jlast,0<Z

Access JIT

o

Reveal J

Reveal Z




Reveal |

L

Reveal J

Reveal O/Z

Reveal O

™

Reveal |

Reveal J/Z




10 oqb

Reveal J

Ol: Reveal L

10: Reveal L

Reveal S

Reveal Z

Z<LS

L<8Z

Z<JS

Z<JS

J<Z<S

J<Z<S

L,J ogb




Reveal |, access S

Reveal O

Reveal S

Reveal Z

yASS]

N
A
(7

-
-

-
e

Reveal |, access J

Reveal O

Reveal Z




Z<S

IL
Note that the reveal J path is the exact same as LJ reveal .

Reveal J, access S Reveal O Reveal S Reveal Z

L

Z<JS

J<Z<S

Reveal J, access J




d

Reveal O Reveal S Reveal Z
Jil
Access J
Reveal SX/0S Reveal ZX/ 0Z Reveal LO Reveal L,S Reveal L,Z

=

=l




Z<S$S
S<Z

Access S

Reveal L Reveal O Reveal S (NEEDS 180) Reveal Z

L
ks &

L<8Z

Z<LS

S<LZ




Access T

Reveal L

Reveal not L

L last

S last

Z last

Olast,S<Z

Olast,Z<S







